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Part - III
GEOGRAPHY

Maximum: 60 Scores

(Map Accompanied)

Time : 2 Hours

Cool-off time : l5 Minutes

o Read the instructions carefully.

o Malayalam version of thery$ObBonfuiis also provided.
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General Instructions to Candidates :

o There is a'Cool-offtime' of l5 minutes in addition to the writing time.

o Use the 'Cool-off time' to get familiar with questions and to plan your answers.

o Read questions carefully before answering.
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PART.I

A. Answer any 5 questions from I to 9. Each carries I score.

l. The economist who introduced the concept of Human Development.

(5x1=J)

2. The factor that make the people to leave their prace of origin.

(,a) Ratzel

(c) Semple

(a) Flood

(c) Better job opportunities

3. An agro based industry
(a) Iron and Steel industry
(c) Food processing

(a) Circular Pattern

(c) Star like Pattern

(a) Hepatitis

(c) Chickenpox

7. An activity included in the Quaternary sector.
(a) Transportation

(c) Policy making

(b) Mahbub-Ul-Haq
(d) Amartya Sen

(b) Educationalfacilities
(d) Better health facilities

(b) Leather industry
(d) Paper industry

(b) 'Linear Pattern

(d) : Double Pattern

(b) Corona

(d) ArDS

(b) Tourism

(d) Research and Development

4. The pattern of rural settlement developed in regions u'here several roads conl,erge :

5. The type of planning in which formation and implementation of the schemes aimed at
the development of various sectors of the economy.
(a) Targetareaplanning 

'""';::fiiffi
(c) Regional planning 6-$l*."ill area development planning

6. A water borne disease due to water contamination :

8. The concept of development that meets the needs of the present without compromising
the needs of the future generations.

(a) Regionaldevelopment

(b) Sectoraldevelopment
(c) Sustainabledevelopment

(d) Human development
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PART. I

A. I a1orcE 9 oloo co-rcn5ongiloS n6oorc,1erlo 5 ogqmontlffi gonDooagltorlo.

I ccrgcd olloro. (5 x I = 5)

L ocmoJ oJlamtcno oOCm Gr6(oooo onororol6p4 m)cmlontfle uoctogeeerroE

(a) ocghr.ro8 0) oaoo6, l6ru-po6-.ooi
(c) omrcnJlod (d) rcoa6o'r5 ocruoA

Z. eecnoBgfl Gnololos rucououoeloogcrflcm;o ojlSt"lc6,3cmo)lcri 6,co5lTlace,lcD

o€lSdro.

(a) oot@oglcooo (b) ojlo5celcm-r mloe'oon<6

(c) oo4o,"S3 aro'rcplo8 <ano-lmtoeonod (d) oodogg Grococcr)} mleo,o5oncd

3. aoi a5"M c'n<r-i"s-c1crr oJJolmrisca)c

(a) po3mt:po]6o"olJolrrDcolo (b) <o'r3oo8 oJJoJoDcaoo

(c) cos,J nuocpo6rno (d) c.ugtt olJolcDooo)o

4. ttlccocpo cocu,r3o,od @ti*.h c.'r€€€T6@66'A.rodslcm orcmrcruna oc<ol5e,

(a) olsolo acro56, $ww.t$:irv:'r'' " (b) coo-llqo ac(o$6r

(c) oalu(ro octo.tAo (d) pog argo,5<u'il

5. mtcnrri ot5otmrooiloet o.rlojltl cooleJeglos oilemlmo aasl5acoeflao]9e

rr: rau of I a g;o s o1Jl o,o oD or ]o ms orofl g 3" g od o geScm or9 ml36<orm cdl <o1 .

(a) gA1.E 1,crcouo GIOCruJ(o>oDo (b) coo€ie, Grlm)](0'r6lno

(c) 1.uccnco1a, tot9crulg<o.r6lrl" (d) oelcco)cto (oJGBro oJlam;cno

6. ere.r aeJlcrfla,oemorofloofl rrnelacoil peneca,](m oo3 eaeJerff)JGcoc<loo :

(a) oeionng[otolo

(c) JleenEc.rcS
(b) ooiccoccln
(d) 

"61co-ctu"ori

7, rro36olo ca"ereLotlo8 9o6o.gslcm ao; C.'-to-t6oomo'

(a) o(oco(6)o (b) oilccnca ou6'I0ucoo

(c) cnor oSJlao5IDo (d) (/?coJosi6lDol3o oJlermlmallo

8. recofl coetoloaoJos ctgolcoJoRodeer- GerclooJoco<o) criletcriloeL orgolc.o5arrod

rrfl 6or 
"rjl 

eo3cm oJlam-:ff) tll@(oaoo.

(a) 6.r:ccacmla oJla,m-lcno

(b) coa€JercoJle,m.lroo

(c) mr3mrolo oflo,mtcno

(d) CIcff)or oJlam;cno

sY-37 3 P.T.O.

For Free Carrier Counselling contact :+91 8891314091



B.

10.

If the value of export of a country is more than the value of imports, then the balance of
Trade is _.
(a) Positive

(c) Negative

Answer all questions from l0 to 13. Each carries I score.

The factor which does not influence industrial location

(4x1=4)

(b) Neutral

(d) Zero

(b) Labour suppll *,r tr(a) Market

(c) Raw material

(a) Methane

(c) Hydrogen

(d) Soil fertility

I I . The biogas released during the fermentation of untreated u'aste disposal

'-r"N

(b) Oxygen

(d) Helium

(b) Agenda - 2l-

jsulre'i'' (d; -sriaiiii-.*tirur

13. The service related to the,runr*,#lr.iroJirnessages, facts and ideas.

0)t Tourism

(d) Trade

PART. II

12. The report of the Rio Conference in 1993 u'as entitled as -

(a) Our common future

(c) Limits to gro*th

(a) Transportation

(c) Communication

A.

t4.

Answer an;- 2 questions from 14 to 17. Each carries 2 scores. (2x2=4)

Among the three indicators of Human development one is health indicator. Identify the

other two indicators.

15. (i) Find out the concept rvhich reflects a middle path between environmental

determinism and possibi lism.

(ii) Who introduced this concept ?

16. Define the term 'Demographic Cycle'.

17. List the four streams of intemal-migration in India.
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9. ao3 ocsJomlooe eao)gla<oJl ager5" poaoSao'r1 o;etJcottD€occd o,3s3<oro8 cngoameiloE

oJJcolco a14o 

- 

GrO5m".

B. 10 hyorc8 13 otoo 
"OtJc 

arlco5ono8dolo p{onDooae}ol}6,. I cagctd o-lltor.

I 0. orJorm)co @ceta,glos ouccmooro m,:JcqJlcrilaocoro oels&ro.

(a) fiIncnlelero

(c) gotroilo3ao

(a) oJlcrtorrfl

(c) GlncruocSloro.top3eercd

(a) zilcrcod

(c) oo"olcroeod

(a) crrmloso.'tcrorgecoLl

(c) org64cogos roo<ol6oLo3o;ao3

I3. orceerge,c.ra, or(B3(oe,ua@rE*
eru mo Or$5 G(ruol cnoRudfii.-,"'''n
(a) u)G)c@(oo

(c) o.rc<donncoilcrilocoro

A. 14 a3omfl 17 oroo

2 crgcd olltoo.

(b) acgalgcorol<ui
(d) o:]BJo

(b) orocPloEmrcdl.'-t5"

(d) rg,lonfl 
"ce-re3ojl.,srb<or

(b) ac6ieod
(d) orflerlaor"

(b) oneene - 21

(d) crycod gom-t-aruggil

6qcrocoor:i6 
"gcrrrloL 

aolos ooeacEol3acotl

(4xl=4)

I L rruocpolaerconn acerlcn5fi'Rglos el6"lpmer"r,ler;os oLlmrdelasrjcrn oosoJ ol3(D6o.

12. I 993 oeL olcorc cacen6.,coo0m;"o1cgc6$ oofl udl 6.'si6,o

(b) oLlccnco GU5Torcoo

(d) orJcoJctoo

PART - II
a"-rco5ongiloE o8oomlErlo 2 oogBorDki gollDooael(o)le,.

14. oco)or oilam;mororloo! a;cm- ru;"-ra,ongiloE acmcem"

o gf osre- CI1J3"-r aoBsa 6,5IEoI1DJ&.

15. (i) atcolmrolrofla cDlQorrooJcBo, fiUcq)J@cojcBo 
"'gcrriloLoco.r 

gotto'r1ocei1g[l@o](m

o o5a c 6 
91 

o o cm crjl eL ojl o er GrO ao aD o & o 5t'B clcrie.
(ii) po cqroolo orgculcgolgrocto'?

1 6.' Brnm;oan5coJoacco 
"-to1o:5cror1' 

oqo ffildo-t"-fl aer3o,.

17. pcror5oioer orgcnnole, a,gs1ccoryoroflcn3 ailplerer cncei a3slccog cnrolaog

crr$6ogslctrol6,.

(2x2=4)

crgcoocnJaoacao eilotlrol".
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B.

18.

Answer any 2 questions from 18 to 20. Each carries 2 scores.

Differentiate between Truck f'arming and Factory farming.

(2 x2= 4)

19. Name the two main fibre crops cultivated in India.

20. lron and Steel industry is called a basic industrl'. Substantiate the statement.

PART - III

Answer any 3 questions from 2l to 24. Each carries 3 scores. (3 x 3 = 9)

International trade may be categorised into two types. Identify them and mention the

differences between them.

22. Identiff the concept in human development which leads to bener w'ork efficiency.

Write any two characteristics of that concept.

-/823. There is a strong relationship between

on it.

6cation of industry. Comment

24. List the advantages of water transport.

A.

2t.

B.

25.

Answer any 2 questions from

Define the following terrns :

(i) Crude Birth Rate

(ii) Crude Death Rate

(iii) Migration

25 to 27. Each carries 3 scores.

Hss\ive'tn

(2x3=6)

-****t*"to

26. How do the rain-water harvesting techniques help in conserving water resources in

India ?

2?. List any three problems of rural settlements in the developing countries.
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B. . 18 a;rorc8 20 o-roo co.lcn5ongfloE "6oroe,1er]o 
2 ogffion ncri goriDooae]o]e.

2 cagc<0 olloro. (2 x 2 = 4)

6seer""ocalocD-, onc$o'l 
".oco1"<td"9crn1o.r 

oraaleL3gg olJoJcmJsoRr.B .4;v3tol;4,.

pcrol5ofl<rfl a5nuloorg3on Cor<l.lcmods @5ne-cncto'ollge,g3os c.,.rd.,61e3ole.

po3rnr:go3eer'ot5otm.rccoloonD oo3 <oaslcnrocm oJ5oloucaoo of)oD3o oilg[leetScm]. go
(oJ ouo cor mo(o) mJc g)J6o1 aet3a.

PART. III

18.

19.

crco5ong[lo8 "goore,letJo 3 rlg*Bolold g<oroooae]toltal.

21. GromDcoc(og olJcolcooonD oenecojl ooo <o'il@'l€oco

or J@Jcm)6rBcrd coot og s]oto Je,.

22. orolcdlo8 goEgcammorruao odadg[eercar1gg acmorojlo,mrcno'roloet Gl](oaoo

o6o<o.lon-6ro5rn6'RD;6r. oonrlloo! "gooloJlerJo 
o6re"ffuojlcuo"sroo0A 1109]{0)]6,.

crDcruoo!|<o) otesfJ€6ra)o oJ(ol(ruc(o)@Rg]os oDo_ coallo <olmloE (ro@{oocao 5Dlff\.Do

Go6mlg(')-. ooeltorcg",

el er ul o) c cn <orcro'fl oo! -$S'B'Hc,a .,.l$*o g t;olole,.

25 agtorc8 27 otaa c'rcoJorlgflo8 "6oore,1erlo 
2 o6ffiotolcri gonnoooelo,le.

3 ccrgcd crllor.

eJ JoJ os moSajl oi o1 €oJcm ot B6R 6', g cni 6ol o-t1 aer3a, :

(i) 1e,3ar.l-emm criloeer"

(ii) leyu-aoem cnloao"

(iii) e,3dlccorgo

26. pcroJaoros eae-.toJleot GUo@&rei6rDomflcncorl apoorqgo€ocao-onD- (rucce,to.l16 oflBJ

o$)(oJ6C (0o fiUoOC(Q)6,(0 A C6,JOnl.

27. oJle,rnrlo ocsJarBgiloel icncdlem oJccrucuoe,@Rg;os o6lool8,1et]. afm- (crJ(g6l3og

or$e,ogs]ctrrole.

A. '21 a1<oo8 24 alo,a

3 crEc<6 oJlor". (3x3=9)

Grooroao ereneonrrl <o)m1a3g!

23.

25.

24.

B.

(2x3=6)
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A.

28.

PART. IV

Answer any 3 questions from 28 to 31' Each carries 4 scores'

What are the advantages of Non Conventional Energ;-' Sources ?

31. Prepare a brief note on the geographical factors that

population.

(3 x 4 '12')

influence the distribution of

(1 x4=4)

29. Mention the economic importances of Rhine Water *u' 
Qru.i,

30. The dependence on erratic monsoon is a major ot"o'#fu,"- agriculture.

Write a note on it'

t
What are the Significances of sex ratio in

country ?

representing the starus of women in a

PART - V

Answer any Zquestions from 34 to 36' Each carries 6 scores'

34. There are four distinct phases of population growth identified in India over

Century.Prepareanoteonthecharacteristicsofthetwophasesextending

1921 and 1981'

B. Answer any 1 question from 32 and 33' Carries 4 scores'

32. Complete the table by identifying right answers from the given indicators'

[NewDelhi,Jamshedpur,Satna'Jharia'Ambala'Roorki'Tirupati]

JJ.

(2 x 6'= 12)

last one

between

,Ed*ilal i lndustrial i Administrative Mining i

I To*n I To*n ; Totn'n i Tow'n 
i

sY-37'
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2E ogoxtfl 3l

4 ao3c<0 o-flor".

PART - IV

iloo G'Jca5ong[lo8 oSooreo,ler;" 3 l,lomcollDki g(onDooot9](,)la,.

(3x4=12)

.'J c oou coJolo gods cim-rc <o'r cft )aglos c a cn z ai.ri 
"gr 

o*Go&f,u t.

IN=r---OOoo0 setolccoo)Jos m)ccruoor1"a (olsoccnJeo'Rod coa:ogs3ctcl]b,. 
\

roncruoloaccor aen6m.:3ernlercn crgqg)ordolcmoi QCIoJna 4c6",si16, cao€Js ccnols3cm

aol 1olcrlcm 1,tlJ(4o Grgsm-. Pe (olruccolo)oqD "o;cn4 
aro; a',3o1g <o'rgcoc€ole.

eBm(ruoolJc orl<oroemocro m.1ccr.;lm'lasr;cm egzlcociop.lrtozcao o€l56ooRog 6r3cfl4 ao3

er "e13oJ301 g (d)9 c oc66)J6r.

32 43orc8 33 cuoo ar:ca5ong[loE o61ooreilel1o acrrilcn- gomooae]ol]al.

4crpc6. (1 x4=4)

olloJos met"e,1oio16o;cm m-:;olaeo'ng[oE crrlcm3o uoolqoccolol e,eneoro] .tJ$6,

.u36ordr1orc@o]6.

[mg oooEorri, BgqoectDLgd, mtcg"m, eJu)co1QQr, GI0o6I)JcEl, o;doO1, ailolgran]

a@] @cerjonm .qlag;os GroolTuc cru;"-r1,'rl"asr1cmcrilo6 eJocnocnJoJcto'totO't1Oofl

CcrJCtr)cmJORcr0 "$omt g co ?

PART. V

34 a1orcE 36 otoo

6 crgcd o-[ror".

corcn5anrgilo8 "6ooreil 
e\o 2 ooffi olo'tlcri g(onDoooglc)lo,.

(2x6=12)

aClororor aog m3gcenelcrilos porr5o,loer t*cn{xjoor}o o:g64ol1oE mcei olJroJC$

"ergarr<,6 <o1o14o1erom1g]6ne". oraoroolo8 I921 cnl. 1981 cDJ. psoia3gg 06rB-

o€l56r3glos (oJ Go)J6(o66.)g€o Jcn g a o1 4,301 6 0)9 coc€o16.
!
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35. Explain Mining as a primary activity.

Points must include

o Factors affecting mining

o Methods of mining

o Economic importance

36' Identifu the following geo inlormations and locate them on the given outline map of
India' (6xl=6)
(A) The port situated in Goa.

(B) The largest coal field in India.

(C) The industrial region where major concentration ofjute mills are found.
(D) The northern most metro city in India u'hich is connected by Golden

Quadrilateral.

(E) The iron and steel plant initially known as Mysore iron and steel gorks.

(F) The port situated in Mahanadi delta.

Hsslive.in

wwv.hsslivein

sY-37 10

For Free Carrier Counselling contact :+91 8891314091



36

SY.3

aoJ (orcEale (oJoJdonDmo of)oD crrlerojlo8 6uff)moonD66,lo14 oxcorJlaoloeige.
goE o g s;corot ene recoaln<r8

o m.IcuJlcrjleofm oersa,arn<.r?

o olc)ff) cdlo1a,c6

o mrccn:orcl'16 (oJCrJJCmJo

or]oros c"jr6001qg re;oJloroonod ollol40leroror- moEaJloilS}gg @oojaolos
o]0rcoaLoiloE onsorcgoHslorDlo,. acocrrnlrnS0 (6 x I = 6)

(A) crrrlrokB ruclsr'lor_.iglrn .TrlozlaJo.

(B) goo5oioa oESoLgo oreJlco e,afeoolqlcso.

(c) 
"-remo1 gga,o0 1or<occnacoJo ce(nJroo14[o1ool(m orJorm)cao caoe,er.

(D) m30r6em or<or3.,v"co,cemo enrrurlgfloer3cm Q(nDJo,]oS orscdo GngomlcB
OOG(SCo)(D@o.

(E) crosJacas'Rplcf ooaml;6 pogmr:go]d6,- @cs .,gcrn1cflorod$olcm eogmr:
g@J€6.,-cOCeJ.

(F) oooccnBl octu<rf gor1afl mnl<of oorg;m orJoaJoJo.
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